767

W79 =h)LT—74 / Technical Datall
#H{ThILY / Recommended torque
FNA 7T AR ILEM3x10 / Hexagonal M3-10 : 0.2N*m

#ETRBH1EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N*m

FDE R / Other screws : 0.3N*m ~ 0.6N-m

HERINZ / Components

No. %R / Part name #= / Pes #&E / Material & - R / Color-Finish
’ a—+—Jovy 4 FILES L ¥R ADC12 DILN— - BE (NEVEQIER)
Corner block Diecast aluminium ADC12 Silver=Painted (Unfinished inside)
9 Btk ) TIVSIRHIA A6063S-T5 DILA— & (REMEAE)
Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
2 TL—L . TILSIRHA A6063S-T5 DILA— & (REMELE)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
. IR ) 7 ILEHR A1100P DIVA— - ER (REERNE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
HN— : 7 ILZHR A1100P VInN— - FE (REERLE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
THhii— : 7 LR A1100P DIVA— R (EEERNE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
aA—F—H—FK o TPE (T5RKT) TSV, Jb—, FAE— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
EMCY—ILEARryk 1 BE MM (UL94V-0) Ao TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
ER{HE X (IMM3 x 8) 16 £ L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
IRFER RANRFRILEMS x 10) o % =R IAiA—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
BR{FTER GETRFLEFRM25 x 7) o % =T ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

mn4/Title
= A == -~ N ~ >
B (BERREDOO) / Color Type (End of product number11) TAKACHI| HARMINFERIR aA—F—H—F{HHEMCO—ILES—X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. i
&C% / Code 7L —X / Aluminium enclosure 3—F—7#—F / Corner guard =TA . BE WE = EMC SHIFLDED ERCLOSURE with CORNER GUARD RE/Scale

S B oS — / Siver 5597 7 Black #%/Approve [%/Checked [%]/Created FF /Product number

S G 2 JLs8— / Silver 5'L— / Gray il £ B A AUGE149-25-16-10 <

SN 2 )LIN— / Silver RAE— / Navy </raee
SR 2 JLiN— / Silver LYK / Red {ERL B /Date 2025/06/25 1717

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




160+0.5 (5r— R 5} / External)

B-B(1:5)

250+0.5 (5 — A5V 2 / External) i
Z E view A-A(1:5) Cc-C(1:5)
[ap) ~ N
= N X
/)
146 242
203 D D
D view A view C view B view
258 168
A
B F B
z 1 L ) 2
=~ A
&

F view 50
R24 RS2 ’—§ D-D(1:5)
s
x
o Ll
o ~
El\é
N
I
£
0
o
+
(2]
A
mn4/Title p
TAKACHI| HXKHINFERIE J—F—H—FHFEMCY— LR 7T —R @D[:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
7&K R/ Approved t&X/Checked #I[X]/Created FIE /Product number RE/Scale
1:5
thig ES GRS AUGE149-25-16-00 —
~N— /Page
1ERK B /Date 2025/06/25 2 /1
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fBl#® / C Frame

M / Front side

D {8I#% / D Frame

M / Front side

148

14

110

2-M3FAH I}
2-M3 Countersunk

¥ RxtmE+ R4k / Same on the other side.

E==j

141.7

22.5

3.3

3.3

ZEM / Back side

5 / Back side

a4/ Title
TAKACHI| Bt ahFERTE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3
iR X FipN R—/Page
H149 - D160 1ERk B /Date 2024/05/15 3 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

22.5

176

e

200

2-M3AHY IR

2-M3 Countersunk

M
\%
f

6.5

2-M2.5

14

5.5 10.5

ET47K / Total 4 pieces

a4/ Title
TAKACHI| HASHINFEKIE IL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:1
hif : Bt e
W250 1ERK B /Date 2022/11/16 4 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\2RJL / A Panel

199.5

£

(O

H#~Ti% / Max dim.192+0.5

Y
A\ 4
[{=)
[ep)
2
L _N&
M / Front side
B /\2x)L / B Panel
[ #%
A4
Y
_\&

M / Front side

BH~i% / Max dim.115.6+0.3

4-M2 5 AR LR —T
4—Metal sleeve for M2.5

3.5 2

176

128.5

ZEM / Back side

EL[E / Back side

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
N

Panel

O]
O]

23/ Approved

iR

t&X/Checked #I[X]/Created

£ fi] A

FIF /Product number

RE/Scale
1:25

H149 - W250

YERZ B /Date 2025/04/25

R— /Page

5 /717

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 4-204.5
220 2
[0} o} o} O
™
o
+
(9]
£
< ©
S = x
< — <§“
~ REES—MAY
pl Surface protective film side
1
=
iT
O O O O

H#~ti% / Max dim. 203+0.5

M@ / Front side ZEm / Back side

mn4/Title
. A .
TAKACHI| HASHINFEKIE FN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
=0 = Te : RE/Scale
£%/Approved t&X/Checked #I[X]/Created FIE /Product number
1:25
thiR E3 B4 —
W250 - D160 1ERk B /Date 2022/11/16 6 7/ 7
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 4-204.5
220 2
[0} o} o} O
™
o
+
(9]
£
< ©
S = x
< — <§“
~ REES—MAY
pl Surface protective film side
1
=
iT
O O O O

H#~ti% / Max dim. 203+0.5

M@ / Front side ZEm / Back side

a4/ Title
HRRAANFERTE T O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/?(:l;
iR £ FHt R—/Page
W250 - D160 {ER B /Date 2022/11/16 7 /77
AREOEFEEIIHARITINFEMIEICIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




